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  ا���
	 �ع ـــــــــــــــــــــــــــــــــــ��ا�� 
  


��ط3(:ا���ــــــــــــــــ��� ا�ول(  
  ����� ���	� 
��
(Sa)  ��
�  ��C=2mmol/Lآ��� ا�����   �CH3–CH2–COOH	�� ا���و���� �� 
ا�#�ازن 

�ه� c°25(� در'& ا�	�ارة +�) &����
�-��#, ا�=6,2mS.m-1 σ  01 -��س� ا��	��ل pHآ�� أ
  .pH=2,4ا� ��&  

ج �#	�ل 1-7��  .� ا���و��
�<� (� ا���ء�أآ#> �;�د�& ا�#:��9 ا��
2- @�;A ��7 �>�
  .<�B أن ��7 ا���و��
3- 9�  .أ
0Eء '�و� �# �م ا�#:�

�اع ا�������G& ا��#�ا'�ة (� ا��	��ل -4I� &ا�#�اآ�� ا����� <J7)أSaا�#�ازن  ( ���.  
�و-5' 0��
�J& ا�# �م ا�����M إ�#��دا  B� ������&  τfل ا�# �م �pH وC  �M#��- ب�J7 Q�.  
6- 9GE0 ا��� <#G> ا�#�ازن S��T أن B��:  
    

,#��- <J7وأ .  
� ا�#�ازن  ir QأJ7> آ�J ا�#:��9 ا��#�ا�� -7�� 9� ا�+��& ا�������G& ؟ ��ه� 'M& ��1ر. r fQوآ�J ا�#:�

(H3O+)=35.10-3 S.m2.mol-1   λ         ،S.m2.mol-1   3,58.10-3= )�                                    λ )ا�!�س ا���ا�
                           

��ط5,3(:ا���
	 ا���ــــــــــــــــ��� (  

 �G��>  م��
��0 ا�
�1Eر ا���وي ����را &�
�Zت إ� أ
, �Zل �:� 235إ
#�ج ا��1-& (� ا��:��Zت ا���و<& ا�����

#�+& ا����ال  ��#�2011� �;� ا`
�<& إ_;���& ا���Eط ا�#� -� �[� �����\& آ�� 7�ث (� ��م  ا�
�1Eر �(�  ه
ا ا���

 ,��_ Sb�� c�7 �M��A ي
��e�f 0 ر<E#� آ�� �+�ي ا`�	�ث �7ل آ�:�& ��1<� إ
#�ج ا��1-& ا���و<& ����#��د 9ا�
��Mا� �g�� ���h����ج ا���وي �
��0 ا� B�'رو.  

  - B�>و�����ج ا�
��ف ا�
�1Eر وا�.  
Ι- وي��  : ا�
�1Eر ا�


�وي ا�g� �Tدم 
�اة ا���را
��م   9�k>235دي ا�
�1Eر ا���وي ا�
ي <	�ث (� -�> �:�
92U  اة�
�#�ون إ��G� 0ن �

146ا���J<�م 
58Ce     م�����Jاة ا��
 ،Se 85 B� د��  .ا��#�و
�ت  و

  .أآ#> �;�د�& ا�#:��9 ا�	�دث -1

235ا��1-& ا����+& �B ا
�1Eر 
�اة وا7�ة �MeV  BأJ7> �ـ -2
92U �1E
�B ا &+����#o ا��1-& ا�#fا eT1رg  

   B�235
92U.  

�146#	�ل 
�اة ا���J<�م -3
58Ce e>اة ��از<�د�
146إ�0 

59Pr   p��-ث د�;�
  .�Q ا

 - &q;��  .أآ#> �;�د�& ا�#	�ل ���r B��;� Q;& ا��-��p ا��

��اة -�� sا��� &-�r <J7235أ
92U  م�>��J146وا�

58Ce  اره��� #fو-�رن ا.  

ΙΙ- وي�����ج ا�
  :ا�

���ج 
�اة ا�#����م 
�B ا o#�>3
1H  و��<�م�2وا�

1H   م���Mاة ا��
2He   �  .و
#�ون وا7

���ج ا���وي -1
  .أآ#> �;�د�& ا�

2- B� رة�	ج   ا��1-& ا��#���
1g B�2 ا
1H 5,13.1024=:ه� MeV E   �1ر-�رنE
��M و���r B-& ا���.   

3-s����ج ا���وي ��ض ا�
�1Eر ا���وي (�  أ
�#��د ا�� B>ج���ر�#
  .ا��1-&  إ
  :ا��;��1ت 

-�
#�ون  ��و��ن  235U U238  Ce146  Se85  � &ا���اة اوا�  

  u  234 ,9934 238,0003  145,8782  84,9033  1,00728  1,00866ا�G#�& �ـ  
 .                     NA= 6,02 × 1023 mol-1 �د ا(�-�درو              �:  

&�#Gم  ا���
  M(U)=235g.mol-1        ،1u=931,5MeV/C2:  235ا�����& ����را

1 – τ 

τ2 
K  C = 
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��ط3,5: (ا����%��� ــــــــا���(  

��0 ا�+��� �B�� B أ��ق وأه��J� e �ت ا`�;�ب ا`و����& ا�w�1> c�7، &>�#E آp��J#� 9 إ�0  &��Jق ا���f ��#;>
 &�G�� &��  .-�J� Q1(& ا���ول �Zل أ-9 ��ة ز�

#� p���> p��J)p�7�#� ( ,#�#آm  ,#��1��B ا`(p ��او<&  Gو��آ�  9��> ��� #J� ���#;
�ر 	�  .1ا�α 9GE(�ق �

�راf& �7آ& ��آ� ���1& ا��#p��J �~#�ر �;��� �)


i,A. (  
Ι- ر�	���0 ا�� p��J#�7آ& ا�� &fدرا:  

  ��� p��J#ا�� p�1�>0=t  &ا����& إ�#�f دون QAا��� B�A  ة� � �M'
��
���G#7� �;Aآ�ت 


f  �Mا�+�ه c�	� &#��T
  .��ازي ����Jر

 - B����� �
�qن ا��
  :�p��1# ا� �

            1-  �M  	� �#ا� &��A�:#أآ#> ا��;�د�& ا�vx ��Tا�  Gإ7


ν    &��1;آ� ا��� &��f ع�;_G .  
            2-  9q�> 9GE2(ا� ( p��J#��1& ا����& ��آ� �f s1~�. رع�J� &��- د�7G a  &آ�	��.  

�ة ا� �ة -                 _ o#�#fا


f.  
�&  B�B ا���G  QA<�� ��آ� ا�;��1& -                 �J���28m/s=Bν  &)�Jد -��& ا���7AB.  
  
  
  

                               
  

                                              A          

                                     

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ΙΙ- p��J#�7آ& ا�� &fدرا:  

�M<& ا����7&  ��� p��J#دف ا���g>AB  QAدر ا����b�)، &)�7B ل &��J��� Bν ه���#;
 &h	ا�� ��� &��أ ا�ز���  

)0=t.( &�7آ &fرا��G  ا�
~#�ر �;��� �#;��(B, 


i , 


j )  9GE3(ا�(  

 ,B)(� ا��;�B��G  e أن �;�د�& ��Jر �7آ& -1


i , 


j   :ه� (

y= g
2vB

2cos2α
 x2  +x.tang α                                              

2- ��>G  QAا��� B�C  &h	ا�� ���t=0,2s  &��J���νC   &��- � .  νCأو'
 m=80kg ;α=30° ;g=10m.s-2: ا��;��1ت 
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ν G(m/s) 

t(s) 

)2(ا�()'  

)1(ا�()'  
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                                                               α                  


i         B                                                                       

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VB                                                    
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��ط3,5(  :ا���ــــــــــــ��� ا��ا-,(  
 9��Q� 9 ا���ء و(p ا��;�د�& ا�#���& RBrو ا�
ي 
��� �, ا�#�gرا �ـ  9�q�(CH3)3Br ��و��ن -2- ��و��-2<#:��:#> ،: 

(aq)) RBr + H2O = ROH +( H+
(aq)+ Br-.  

  +7 ��]	#� ���- 9� �G#> o>�� B�VRBr = 1,0 mLن �B ا���ء و  B� eV = 100 mL ا'9 دراf& �7آ�& ه
ا ا�#:�

�hا ��Gن ا��#:����B � <�#�'�ن <[�ف ا`�f#�ن eT <�ج ا���<o. و -��B� 9 ا`�f#�ن . &��-��
 �م � ��س ا�G  o>����

 ,#��� S��T &��-�
� در'#� �7ارة �~#�:#���k = 1,00.10-2m . Bا1f& � ��س ��25°
+�ي ا�#+��& C  45و°C 
p	ا��� �) B�����B ا����	���0 ا�� 9g	�).  

  .ρwater = 1 g.mL-1: ، ا�G#�& ا�	+��& ����ء RBr :d = 0,87   ،M(RBr) = 136,9 g.mol-1آ�q(& : ا��;��1ت
 .�RBrـ   n0 = 6,36.10-3 molأS�T أن آ��& ا���دة ا��#�ا��&  .1
2. 9��ول � �م ا�#:�' �E
  .أ
3.  &��-���B ا� ���G م����& ا�# � x  &��~ا� S��T وk  &>رد�Eا�����& ا� &���� λ(Br-)و  λ(H+)و ا���-���ت ا�
4.  &���� 9��& ا�	+��& ��#:��Jا� B� ���G  وλ(H+)  وλ(Br-)  وk. 
5. &�f���� إ�0 در'& ا�	�ارة ا��	�  .أ
J> آ9 �
����ن  .6	�
:� ا��B� e����� &>�M أن ا���<+�B ا��#�ا���G = f(t) B��T��#� Bا�� ��M� ��� فZ#�ا� �J) ،. 
� . أ .7�� 9�
g@ ا�#:� Bز� o#�#fاT=25 °C  وT = 45 °C. 
� إ��از� ؟. ب  >�
  �� ه� ا�;��9 ا�	�آ� ا�
ي 

�B . أ) 8 ���Gf  &����n0  وV.  ا�#���&. ب &-Z;0 ا���: أS�T أن <�BG ا�	�gل 
fG

G
nx 0=.  
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��ط3(:ا���ـــــــــــ��� ا�0�/. (  
  

�� ��#�ن        ����(TITAN)  &)�J� 0ا� �� ا��1 Q > ��- أآ��RT 97آ�آ> ا�� B�(S).  
 ��1- @g
0 ��ار دا��ي ��
;#�� أن ا� �� ��#�ن <�ور �7ل ا��97 RT=1,22.106km. 97ز Q'�� �) &fرا��#e ا�

������� ���#;
  .��آ�ي ا�
ي 
�ره� آ�آ> ا��97 
;#�� أن ا� �ة ا���7�ة ا���Tkة ��0 ��#�ن -1g� �#ب ا�
  ��آ����1& ��#�نBG��T .ه� -�ة ا�+

	�  Tو ا���', �B  (ST)_;�ع ا��7�ة ا�
ي <	��, ا����u  e� #Jآ� ���1& ا��S  ،97و S.  
�� ��#�ن و ا� �ة ا�~�ر'�& ا���Tkة ��0 ��#�ن -أ����s1~� 0 آ�آ> ا��97، ا� �� ا��1 9q�.  


� -بM� &���;Eا� �ة أآ#> ا�;��رة ا�.  
���& S��T ا�+
ب ا�;�م  aأآ#> ���رة _;�ع ا�#�Jرع  -2�G   وMS آ#�& ز97 وRT.  
3-  &��Jرة ا���� s�  .�#�#�ن و أv �M#��- <J7أ
4- &����� ��#�ن ���gدور ا� �� ا� B� ���RT ,v    .  
5- ���G� c��qن ا��
�#o ا� �#fا.  

                                     MS=5,69.1026kg   ,   G=6,67.10-11SI  
 ا��ـ�ـــــــــ��� ا��1��2	:( 3,5  
��ط)

 ،)��7 ا�Zآ#��(�	��T�� S ا�
�<��ت، <#	�ل ا�Zآ#�ز إ�0 ��7 ا���B . ا�Zآ#�ز ه� ا��GJ ا����� ��	��>      
  .و���ور ا���B ��داد ا�	��A& ا���1;�& ��	��>  

  :/456�ت
Bا��� ��	� &�g:ا�� @g
 &b�gا�: CH3-CHOH-COOH &90,0: ، وآ#�#, ا�����g.mol-1 

 &��-pKa  ��7 &����q��\ ه� Bا��� ��	س ��f3,8: أ  
 ������ Bا��� ��	� ���
HA  

I - �189 ا��::  

g@ ا��:�fI� &�gس ا���ا(p �	�� ا���B  -أ  -1 &b�gا� s�  )_�ردة ا�Zآ#�ت(أ
���رة S��T ا�	��A&  -ب    s�����& Ka  ��7أq��\ �fأBا��� ��	س �  
� �C = 1,0×10-2mol.L-1	��ل ��7 ا���B ذي ا�#�آ��  pHا� ��س ا�#+�<�� �ـ  -2�� ،،25°C  &�� 01 ا��   pH = 2,9أ

�ول ا�# �م �#:��9 ��7 ا���Q� B ا���ء  -أ    ' �E
أ  

��م (� ا��	��ل - ب  �Jآ�� _�ارد ا`آ�� <J7ا  
�9 ��7 ا 
�J& اJ7> –ج   �:#� ���M��#o؟. ���Q� B ا���ءا�# �م ا�#J� ذا��  

����& ��7 ا���B، وآ
�� -��&  Kaا
B� �-Z1 ا��#��o ا�#+�<��&، اS��T &��- <J7 ا�	��A&  -أ  -3q�pKa.  
  ا��;�1ة؟ pKaإ�0 ��ذا <;�د ا��#Zف ا�1:�@ � �ر
& � ��&  - ب                    

II -  ة���ا�=48>/6 	�9 ا��18 �::  
 &�20,0
[Q (� إر�� mL  د<�م�gا� ��Jروآ��ر<+�ً� �	��ل ه�� @�]
��ل (#����B، و�) B� �1ات- Q� <��7 &��� B�

� إmol.L-1  . &)�A 2-10×��5,0آ��� �� ���9,2
��b� �7Z ��ن ا��sf ا�#:� mL د<�م�gا� ��Jروآ�  .�B �	��ل ه�
1- 
  .�تارef �~11ً� ��#�آ�> ا�#+�<�� ا��J#;�9 (� ه
� ا��;�<�ة ��( ً� ������
2-  B�� 9�� ا���7 ا���B و_�ردة أآ#> �;�د�& ا�#:��Jروآ��M(HO–).  
�& ا�	��> ا���روس -3�� �) Bا��� ��	ا�#�آ�� ا����� � ,�� <J79 وا��ول � �م ا�#:�' �E
  .أ
  ه9 ا�	��> ا���روس �rزج؟. g.L-1 ��1,8آ�� ��7 ا���B (� ا�	��> ا��1زج <+> أن � <#+�وز  -4
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